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QUESTION PAPER
Madhyamic MATHS [SHIFT - 4]

Exam Date : 05/09/2023 Time : 03:00 PM - 05:30 PM
Subject Name : MATHS Subject Code : 110

Subject Question

Question 1 Question Id : 1
frfafad ® S 9 aRmae # oRadie 82
Answer : Option Id
(A) 1001
22
7
(B 1002
41
8
© 2 1003
15
(D) 1004
5
22
Right Answer : Right Option Id : 1002
41
8
Question 2 Question Id : 55
"kl p ﬁﬂ%@ﬁ -ﬁ[ ﬁ:[ %
0.001 PI==Y ?
q
Answer : Option Id
(A) 1 55001
1000
(B 55002
1
2
© 1 55003
100
o _1 55004
1999
Right Answer : Right Option Id : 55002
1
2
Question 3 Question Id : 54
frafafed # fege! Tonwad te oAy e 82
Answer : Option Id
(A) V2 X V3 54001
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(B) V9 X V5
(C) V27 X V3

(D) T I3 &I

Right Answer :
V27 X3

Question 4
TR B SHTSY G B |

Answer :

Right Answer :
2

Question 5

0 3R 50 F s fawm TReTsh F TRe 31
Answer :

(A) 26

(B) 25

(© 27

(D) 24

Right Answer :
25

Question 6

387
Ezmma:rw?:l

Answer :
(A 43
45
(B)
41
25
@ 9
25
o 129
135

Right Answer :
129

135

Question 7

11.23564 ¢ Teh

Answer :

54002
54003
54004

Right Option Id : 54003

Question Id : 53

Option Id
53001
53002
53003
53004

Right Option Id : 53001

Question Id : 52

Option Id
52001
52002
52003
52004

Right Option Id : 52002

Question Id : 51

Option Id
51001

51002

51003

51004

Right Option Id : 51004

Question Id : 50

Option Id
50001
50002
50003
50004
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Right Answer : Right Option Id : 50003
U URAg T

Question 8 Question Id : 49
axb=To%o (a,b)X Ho¥o (a,b) TE HaA TH AT

Answer : Option Id
(A) T TSt & forg 49001
(B) i Tt & forw 49002
(C) TR Fealt & forg 49003
(D) T &5 Tl 49004
Right Answer : Right Option Id : 49001
3 et & forg

Question 9 Question Id : 48

148 TUT 124 HoHo BN

Answer : Option Id
(A)1 48001
(B) 2 48002
3 48003
(D) 4 48004
Right Answer : Right Option Id : 48004
4

Question 10 Question Id : 47

420 3R 272 BT HoHo BT

Answer : Option Id
(A)1 47001
(B) 2 47002
3 47003
(D) 4 47004
Right Answer : Right Option Id : 47004
4

Question 11 Question Id : 46

T eATHD [ATH QUifes &1 WU BT, ST8T q Ueb YUifep &1

Answer : Option Id
(A) 2q+1 46001
(B) 2q+2 46002
(C) 29+3 46003
(D) 2q+4 46004
Right Answer : Right Option Id : 46001
2q+1

Question 12 Question Id : 45

Fis f faww equies §hm STet q U QUi &1

Answer : Option Id
(A) 6q+5 45001
(B) 6g+5.1 45002
(C) 6q+5.2 45003
(D) 69+5.3 45004
Right Answer : Right Option Id : 45001
6q+5
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Question 13

T TR 3T BT OB 3% dodo R Hoo BT UM gIdl &l
Answer :

(A) &R

(B) W& e &1

(€ AR B TR

(D) T ®I% &l

Right Answer :
SEEGE

Question 14

TS SgUT forges @l &1 AT 0 TU1 U Td 3 §1 ol I8 Igad gl -
Answer :

(A) x2-3

(B) x?+3

(C) x?+9

(D) x?-9

Right Answer :
x?-9

Question 15

TGUG ax?+x+c BT 3T [HY YHR BT 5T :
Answer :

(A) TATPR

(B) BryeTeR

(C) WITITHR

(D) 37T ®1S &

Right Answer :
EECNEICIR

Question 16

Question Id : 44

Option Id
44001
44002
44003
44004

Right Option Id : 44002

Question Id : 43

Option Id
43001
43002
43003
43004

Right Option Id : 43004

Question Id : 42

Option Id
42001
42002
42003
42004

Right Option Id : 42003

Question Id : 41

i 9gUC ox? - bx + a = 0 & Jd « Td B Bl dl &2 + b2 DT TH I

Answer :
W p2-2ac

c2

®)
a’-2ac

a’b?

(D) 0

Right Answer :
b2—2ac

c2

Question 17

Option Id
41001

41002

41003

41004

Right Option Id : 41001

Question Id : 56
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(g T8UG f(x)=x2-p(x+1)-c b Hd o« 3R 8ibeta Bl AT (cc+1)(B+1) BT HH BT -

Answer : Option Id
(A) C+1 56001
(B) C-1 56002
@c 56003
(D) 1-C 56004
Right Answer : Right Option Id : 56004
1-C

Question 18 Question Id : 57

TP TGUG -x3+3x2-3x+5 P TG -x2+x-1 7 HIT G W11 § A HITH x-2 U Sl § | ST A0 S -

Answer : Option Id
(A)5 57001
(B) 2 57002
-3 57003
(D) 3 57004
Right Answer : Right Option Id : 57004
3

Question 19 Question Id : 58
TEUE x2-2x+1 BT U XD Gl :

Answer : Option Id
(A)1 58001
(B) 2 58002
(@1 58003
(D) ¥ PIg el 58004
Right Answer : Right Option Id : 58001
1

Question 20 Question Id : 67
3ifaR1e Feiepur o B FAGE:

Answer : Option Id
(A) TS 54 TRI 67001
(B) 3MMA g 67002
() T 3R Ryth U & 67003
(D) 37T BIS T 67004
Right Answer : Right Option Id : 67003
% 3R R T ga

Question 21 Question Id : 73
TR BT x=5 TUT x=-4 & &l B TAT T :

Answer : Option Id
(AT Q) 73001
(B) TP (1) 73002
(©) ST 73003
(D) T A BIE TET / & g AT 73004
Right Answer : Right Option Id : 73004
ST A IS 8T / & G Al

Question 22 Question Id : 72
TEUG x2-2x+1 7 x-19 YN 3 W AYHS A1 :

Answer : Option Id

Page- 5


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A)1 72001

(

(B) 2 72002
o 72003
(D) T8 A FIS et 72004
Right Answer : Right Option Id : 72003
0

Question 23 Question Id : 71

21 BT BT ATHFUR 21 kg BT TUT ITH ¥ TS 21 kg YR dTel BTF BI T A1 ST df 39 B1F I g TR 9 THE P ATHYR J1d B |

Answer : Option Id
(A) 20kg. 71001
(B) 21kg. 71002
(C) 19kg. 71003
(D) 22kg. 71004
Right Answer : Right Option Id : 71002
21kg.

Question 24 Question Id : 70

&3t LA |

afE UAA n UTHT FEITHT FT AT~ R s

Answer : Option Id
(A)5 70001
(B) 10 70002
(©) 4 70003
(D)9 70004
Right Answer : Right Option Id : 70004
9

Question 25 Question Id : 69
3x+y=243 TUT 243x-y= 3 & fd- g TUT§ -

Answer : Option Id
(A) O 69001
(B)1 69002
©2 69003
(D) ST & 69004
Right Answer : Right Option Id : 69002
1

Question 26 Question Id : 68

I, TS U1 G BT J1eg AUA 25°C. AT | A, g T TEWTAR BT HIed ATAM 42°C. UT| TG FELITIIR AGHH 22°C. 8T B dl GHAR BT ATIHH 7 SR 2
Answer : Option Id
(A) 23°C 68001
(B) -29°C 68002
(C) 22°C 68003
(B) 21°C 68004
Right Answer : Right Option Id : 68002
-29°C

Question 27 Question Id : 66
femd THIBRT 2x2 - 5x-3=0 & B q 5 YA LI § ?

Answer : Option Id
(A)3 66001
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(B) 2
(©) 4
(D) BAYT C gHr

Right Answer :
B YT C G

Question 28

Tfg 2x+3y = 13 TUT 4x-y = 5 B dl x,y & A

Answer :

(A)X=2Y=3
(ByX=3Y=-2
(OX=-3Y=-2
(D)X=-2Y=-3

Right Answer :
X=2Y=3

Question 29

gl 3x2 + 8x+2=0 o Hel o TYUT B Bl il o + B3=

Answer :

(A)

46

3

®
368

27
© —368

27
(D) TTH A BIS T

Right Answer :

-368
ail

Question 30

e THIHRT 2x2 - 6x+p = 0 T IRAGD qUT SFHH 51l p HT A

Answer :

*
9

€
P 2

66002
66003
66004

Right Option Id : 66004

Question Id : 59

Option Id
59001
59002
59003
59004

Right Option Id : 59001

Question Id : 65

Option Id
65001

65002

65003

65004

Right Option Id : 65003

Question Id : 64

Option Id
64001

64002

64003

64004
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Right Answer : Right Option Id : 64001

< 9
2

Question 31 Question Id : 63
faerd THI®HROT ax? + bx + ¢ = 0 P Td sinw, cosx, Bl dl b’ =
Answer : Option Id
(A) @ + ac 63001
(B) a% - 2ac 63002
(C)a% - ac 63003
(D) a2 + 2ac 63004
Right Answer : Right Option Id : 63001
a? + ac
Question 32 Question Id : 62
FIS AT 10% Ufd VR B R T o VR Tiear & s o & ofd & 8% i fierar § afe Hof arHizr 300% &1 df 38 ey TR TWhe?
Answer : Option Id
(A) 375 To 62001
(B) 350 To 62002
(C) 275 To 62003
(D) 250 %o 62004
Right Answer : Right Option Id : 62001
375 Yo
Question 33 Question Id : 61

AT 45000 Fo FIAY HRP TH IR SRY 5T $& T 91¢ B 54000 BT (A HRb ITDT MR 57 741 I IR H g9 a1 Al ol 9y & Sid H 24 F
SFaTd & sfel T 8 @ fFdan 7E 18 B 3T rEfieR &1

Answer : Option Id
(A) 4 TG 61001
(B) 5 W& 61002
(C) 6 R 61003
(D) 7 HEH 61004
Right Answer : Right Option Id : 61004
EE

Question 34 Question Id : 60

A' 9 TP Bl forT Sifehd T T 3000 YT HHTT: 10% TUT 15% i &l Bl g TR @Ial | I 2 105 URaE TR 99 a1 a1 7 &1 % 3200 H 99 €t IS A1H BT
R grm?

Answer : Option Id
(A) 30% 60001
(B) 1 60002
(C) 35% 60003
(D) 5 1 60004
Right Answer : Right Option Id : 60002

1
335%
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Question 35 Question Id : 40
it a <t &1 ifthd HeT 1000 Fo § TH Bea bl 34 1 HHG agi W 810 & Thed 31 FH TP 7110% 31 A W S 7 H1 ufawa g

Answer : Option Id
(A) 1% 40001
(8) 20% 40002
(C) 8% 40003
(D) 10% 40004
Right Answer : Right Option Id : 40004
10%

Question 36 Question Id : 39

T G faod! dics fasdr ¥ 40 Fa1 36 Haq o1 FufiRd e &R Wied 31 a2 Fess a1 39 wad! &F 1% §g TR 391 8 d IUST HRaed ard g

Answer : Option Id
(A) 10% 39001
(B) 10.5% 39002
(C) 6% 39003
(D) 8% 39004
Right Answer : Right Option Id : 39001
10%

Question 37 Question Id : 38
Ahqfeg SIS TR STHT 1 TS 12000 U BT 4RI 5 98 H & T 81 St 81 20 9 91¢; Tg a1 &1 smwefle

Answer : Option Id
(A) 144000 To 38001
(B) 120000 To 38002
(C) 192000 o 38003
(D) 116000 ¥o 38004
Right Answer : Right Option Id : 38003
192000 %o

Question 38 Question Id : 37

TF AT et axg 1 9T G Hamea F 10% i Sifthd Il | S U9 98 T2 TE1 &l § ol 39 1% B g1 gielt 81 I8 fbam wfra wgT faam?
Answer : Option Id
(A) 10% 37001
(B) 11% 37002
(C) 15% 37003
(D) 9% 37004
Right Answer : Right Option Id : 37001
10%

Question 39 Question Id : 17
1800 To BT 10% AN T lg TS B X A et P THT & Thqfa <M 378 To B W11 31 6T § 98 THI M G2

Answer : Option Id
(A) 2T 17001
() 39 17002

17003

1L g
2
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17004

Question 40 Question Id : 16

TH TV YT 20000 Fo TG YA AT 6000 Fo FLd YT TUT 6 HTE TR 16800 Fo 1 fohed UR Sl STl & | fobeet et I forT <71 7 &R o gRe

Answer : Option Id
(A) 30% 16001
(B) 35% 16002
(C) 40% 16003
(D) 25% 16004
Right Answer : Right Option Id : 16003
40%

Question 41 Question Id : 15

TH T3P BI 500 To & I YA qUT Ueh AT TR 610 Fo 1 e TR S 71 8T 81 TS 20% AMYeh & I =TS o7 ST Xe71 § ot Wisfohet 1 Aive Hedd 31
x|

Answer : Option Id
(A) 1100 %o 15001
(B) 1110 Fo 15002
(C) 1200 To 15003
(D) 1122 Fo 15004
Right Answer : Right Option Id : 15001
1100 To

Question 42 Question Id : 14

TS AR AR Rt e G 15000 Fo B 35w Io1 & Sicid @iel T8 s 2250 Fo F G YA P URATd &l THM SfGalties ol # WTar fosar |
e ST BT &R 8% IMYeh &R | Wi BHTET AT fobam 1am 1 ot wdies fomet bt IR g1t

Answer : Option Id
(A) 6760 %o 14001
(B) 6740 %o 14002
(C) 6860 To 14003
(D) 6840 %o 14004
Right Answer : Right Option Id : 14001
6760 Yo

Question 43 Question Id : 13

T A 750 To P qXd YITAH T 6 HIE URETT 436 Fo TH WG T3 | X 1T 7T 11 BT &R 18% T B it Bl B Fbe Hed GITM

Answer : Option Id
(A) 1186 To 13001
(B) 1180 o 13002
(C) M50 %o 13003
(D) 1100 %o 13004
Right Answer : Right Option Id : 13003
1150 ¥o

Question 44 Question Id : 12

T BT Fegl 520 Fo & e YTAH qUT 520 To H UfaHTE IR ! # Jucisy § afe <IeT &1 <R 25% a8 dl Feg BT Abg Tedl gRI?

Answer : Option Id
(A) 2600 Fo 12001
(B) 2580 o 12002
(C) 2500 %o 12003
(D) 2540 %o 12004
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Right Answer :
2500 Yo

Question 45

HIdr aa B Ry st fawg (4,-5) B SIfe &1 A gl
Answer :

(A) 4

(B) -5

©s

(D) -4

Right Answer :
-5

Question 46
fag 4,5 e ue ARG |

Answer :

(A) T U
(B) fedig ure
(O Feilg UTe
() =g e

Right Answer :
JYH Ul

Question 47
ARG (x0y7) IR (00,y,) o T & & @ 37 St g @t |

Answer :

(A) (2 - %) + (2 - yo)?

(B)
V02 — x)2 + (2 — »1)?
(©) (a1 - y1)? + (x2 - y2)?

(D) S8 I HIE TET

Right Answer :

V2 — x1)2 + (y2 — 71)?

Question 48

g &g (7.y),(x,-6) 3R (9,10) FRT T T A HT H% (6,3) B, Al (x,y) =2

Answer :
(A) (2,5)
(B) (5.2)
(C) (4.5)
(D) IS &l

Right Answer :
(2.,5)

Question 49

fargait P(-2,8) 3R Q(-6,-4) T M arch X ST AT g B |
Answer :

(A) (-6,-4)

(B) (-4,2)

(C) (2,6)

Right Option Id : 12003

Question Id : 11

Option Id
11001
11002
11003
11004

Right Option Id : 11002

Question Id : 10

Option Id
10001
10002
10003
10004

Right Option Id : 10001

Question Id : 9

Option Id
9001
9002

9003
9004

Right Option Id : 9002

Question Id : 8

Option Id
8001
8002
8003
8004

Right Option Id : 8001

Question Id : 7

Option Id
7001
7002
7003
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(D) (-4,-6)

Right Answer :
(-4,2)

Question 50

P(-1,1) 3T YWRIUS BT ST A(-3,b) 3R B(1,b+4) I AR A 51 8, i fag e aa b 1 AH &

Answer :
M1
(B) 2
C) -1
(D)o

Right Answer :
-1

Question 51
Oy, (xzy2) 3R (xa,y3) § T A BT 8B SITI-

Answer :

(A) 1/2[x1(y2-y3) +x2(y3-y1) +x3(y1-y2)]
(B) x1(y2-y3) +xa(y3-y1) +x3(y1-y2)

(Q) xa(y2-y3)+x2(y1-y3) +x3(y2-y1)

(D) FTH A SIS & |

Right Answer :
1/2[x1(y2-y3) +Xa(y3-y1) +X3(y1-y2)]

Question 52
fargait A3,8), B(-4,2) TUT C(5,-1) ¥ &9 Y ABC HT &A% &1 BT |

Answer :

(A) 57 T SHTS
(B)

57

5 Ert"f EEﬁlg
© 75

5 Eﬁﬁ'éfﬁlg

(D) T8 A HTE T |

Right Answer :

75
~ TN IS

Question 53

g A2,3), B(4,k) 3TR C(6,-3) T} B T k BT A BT |
Answer :

(A)O

(B)1

2

(D)5

Right Answer :
0

Question 54

TARGS AB TR P TS fawg & i AP=2BP, I A=(2,-3) 3R B=(2,3) I P &1 y-ME=Mh RIeR 7 -

7004

Right Option Id : 7002

Question Id : 6

Option Id
6001
6002
6003
6004

Right Option Id : 6003

Question Id : 5

Option Id
5001
5002
5003
5004

Right Option Id : 5001

Question Id : 4

Option Id
4001
4002

4003

4004

Right Option Id : 4003

Question Id : 3

Option Id
3001
3002
3003
3004

Right Option Id : 3001

Question Id : 18
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Answer :
(A) -2
(B)-1
©2
(D)1

Right Answer :
1

Question 55

T g A U 3 farg T w el T Wi o Thdll © 15 o U T T Sl § 2
Answer :

(A) TP SR

(B) U SifHeRoT

(C) T& TRHTT

(D) T GHI0

Right Answer :
& HYRT

Question 56
180°  31fh 3R 360° V HH AIY ATe! BV x B SATAT STl 8-

Answer :

W 180° < x < 360°
® 180° > x > 360°
© 180° = x = 360°
® 180°< x > 360°

Right Answer :
180° < x < 360°

Question 57

ABC 3R BCE &1 HaTg Y 39 UHR § & D,BC &1 Hen-fig ¥1 FIysl ABC 3Tk BDE & &5l &1 31uTd &
Answer :

(A) 2:1

(B) 411

©) 1:2

(D) 1:4

Right Answer :
4:1

Question 58

fGU U ABC & T FAYS 31 T91 & AT, ot YsTTE ABC BT Trd Yotrait
@1 5/9 B, Ugdl U [0l BX 34 UBR iU fh 2CBX U g HIvI 1 3R X,
BX & WY& A & fquRia fa=m o fR&yd g v BX IR 1M g1 )R

fdg B1,82,B3,.... AT HITT 3R Tl TRV 31 §

Answer :
(A)B9to C
(B)B4to C
(C)B5to C
(D)B14to C

Right Answer :
B9to C

Option Id
18001
18002
18003
18004

Right Option Id : 18004

Question Id : 2

Option Id
2001
2002
2003
2004

Right Option Id : 2002

Question Id : 19

Option Id
19001
19002

19003
19004

Right Option Id : 19001

Question Id : 21

Option Id
21001
21002
21003
21004

Right Option Id : 21002

Question Id : 36

Option Id
36001
36002
36003
36004

Right Option Id : 36001

Page- 13


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

Question 59 Question Id : 35
T foreht BIYS & BI0T 2: 3: 4 & U H &I a1 Y & Il HI0T 1T Hifor|

Answer : Option Id
(A) 20°,40°,60° 35001
(B) 40°,60°,80° 35002
(C) 30°,50°,70° 35003
(D) 90°,60°,80° 35004
Right Answer : Right Option Id : 35002
40°,60°,80°

Question 60 Question Id : 34

AR et e &t T Yo 6T ST A SR S S : BN P —-omemmmeeoee IR B 2

Answer : Option Id
(A) &IsT 34001
(B) ®H 34002
(© rm 34003
(D) T8 A FE T 34004
Right Answer : Right Option Id : 34003
T

Question 61 Question Id : 33

BU g

Xx=_
Answer : Option Id
(A) 16° 33001
(B) 20° 33002
(C) 22° 33003
(D) 18° 33004
Right Answer : Right Option Id : 33004
18°
Question 62 Question Id : 32
i APQR ~ ALMN 3R PQ:LM=17:25 Tl ar( APQR):ar( ALMN) @I T &1 §I¥II?
Answer : Option Id
(A) 144:121 32001
(B) 169:225 32002
(C) 121:169 32003
(D) 289:625 32004
Right Answer : Right Option Id : 32004
289:625
Question 63 Question Id : 31
foreft g B SHfHa ... THIR =T 8 Tl 1
Answer : Option Id
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Right Answer :
@

Question 64

et argT foig § ga W febait TRt i o webdt 82
Answer :

(A) IR

(8)

@k

(D) ¥

Right Answer :
a

Question 65

31001
31002
31003
31004

Right Option Id : 31003

Question Id : 30

Option Id
30001
30002
30003
30004

Right Option Id : 30003

Question Id : 29

TP IO BT b5 O 5| fball areT foig P & gd WR ) WRRETE PM a1 PN i 1S 8 S 991 & M ddT N TR W= &=l 81 afd 2PON=50° @ MPN &1 T Tl |

Answer :
(A) 100°
(B) 120°
(C) 80°
(D) 90°

Right Answer :
80°

Question 66

afe; et g # < T 1l B A 720 T 108°7 @ FgS FEifea § e weR @ e &2

Answer :

(A) FHIR TGS
(B) FHEIGHS

() TP TGS
(D) T8 T F¥E

Right Answer :
Te1g TGS

Question 67

I g ABC # 910 AB=9 IR, AT CD=4.5 ¥, LA0B=80° i ~COD T W5l i 0 11 T H= &

Answer :
(A) 40°
(B) 60°
(C) 100°
(D) 120°

Right Answer :
40°

Question 68
1 3t b forefiedier & sRIeR 87

Answer :
(A) 10

(B) 100
(C) 45200

Option Id
29001
29002
29003
29004

Right Option Id : 29003

Question Id : 28

Option Id
28001
28002
28003
28004

Right Option Id : 28003

Question Id : 27

Option Id
27001
27002
27003
27004

Right Option Id : 27001

Question Id : 26

Option Id
26001
26002
26003
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(D) 1/100 26004

Right Answer : Right Option Id : 26001
10

Question 69 Question Id : 25

T GAIH T G B & S A B

Answer : Option Id
(A) 2 25001
(B)3 25002
(C) 4 25003
(D) 5 25004
Right Answer : Right Option Id : 25002
3

Question 70 Question Id : 24

TP 3MATBR & 50 Hiex daT 3R 42 Hiex AT 3feR T ATIAIDHR A1 il § T8 U GHM d1STs & Jort Uy I R gon 31 afe oy &1 Aiets 6 Wex 8, O o &7
e

Answer : Option Id
(A) 240 Hiex 1 24001
(B) 480 Hex aif 24002
(C) 720 Her 24003
(D) 960 ez 24004
Right Answer : Right Option Id : 24004
960 Hiex T

Question 71 Question Id : 23

T 93 e iR &7 3marae (@ #) TR U o 4.2 Yt fHR aTel 991 § HieT ol 9hdl 8, 98 8: .

Answer : Option Id
(A) 9.7 23001
(B) 72.6 23002
(C) 58.2 23003
(D) 19.4 23004
Right Answer : Right Option Id : 23004
19.4

Question 72 Question Id : 22

TS FAIR TG4 BT TS Yo 8 It 1 AfE Ta SATS 6 TR B, A ST At

Answer : Option Id
(A) 24 F#f it 22001
(B) 36 Tl f 22002
(©) 40 Tef aif 22003
(D) 48 Teft 22004
Right Answer : Right Option Id : 22004
48 9ot it

Question 73 Question Id : 74

T U MR RicisR B AT 345 Y B R, U Tl qeild Xigp &1 3MaaH, e SMuR &t 51 3R a1 gieR So &t 391 & THHE 8, 89T

Answer : Option Id
(A) 345 T 74001
(B) 690 I3 74002
(© 115 L 74003
(D) 230 1 74004
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Right Answer : Right Option Id : 74003
115 I3

Question 74 Question Id : 20

T TR 3R THM YR P 3R TAM $a1E &1 WP &7 | I & AT BT P & I I 30T &

Answer : Option Id
(A)3:1 20001
B)1:3 20002
©2:3 20003
(D)1:1 20004
Right Answer : Right Option Id : 20003
2:3

Question 75 Question Id : 75

U By $t Yot 5 I, 12 e &R 13 A7 B 1 < 39T

Answer : Option Id
(A) 0.0024 m T 75001
(B) 0.0026 m T 75002
(C) 0.003 m af 75003
(D) 0.0015 m Tt 75004
Right Answer : Right Option Id : 75003
0.003 m if

Question 76 Question Id : 78

Ife U 1A &b GAD T H 100% 1 I B ST 8, o EBA T GiG---mmmemmo- A

Answer : Option Id
(A1 78001
(B) 2 78002
3 78003
(D) 4 78004
Right Answer : Right Option Id : 78004
4

Question 77 Question Id : 92

T BIYS BT MR 15 SITA § 3R 3BT ST 12 STH B | A A5 d1d T 37 BIye 31 Sars 3k Riget omR 20 Sud 8, g1 fean man g

Answer : Option Id
EE 92001
(B) 18 STH 92002
(© 83TA 92003
(D) 12.5 S1eH 92004
Right Answer : Right Option Id : 92002
18 Sted

Question 78 Question Id : 93

TS (1) 3R ASTE (b) AT THIAR TGS BT &TH o:

Answer : Option Id
(A) 2 1b 93001
(B) 2Ib 93002
Q) Ib 93003
(D) (Ib)2 93004
Right Answer : Right Option Id : 93003
Ib
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Question 79 Question Id : 94
1 ofteR fobdm o & SRR 8 Fiiex?

Answer : Option Id
(A) 10 cu.cm 94001
(B) 100 cu.cm 94002
(C) 1000 cu.cm 94003
(D) 10000 cu.cm 94004
Right Answer : Right Option Id : 94003
1000 cu.cm
Question 80 Question Id : 97
TP THIR TGS BT &0 70 SUH? § 3R 3UHT IA1S 7 SITH 8, T ST YR TR TS JAM & & 31T BT URIY §
Answer : Option Id
(A) 40 STTH 97001
(B) 28 STTH 97002
(© 34w 97003
(D) 17T 97004
Right Answer : Right Option Id : 97003
34 3w
Question 81 Question Id : 96
Ife 3,7,X TUT 15 BT HIEF 25 B Al X SRR &
Answer : Option Id
(A) 15 96001
(B) 20 96002
75 96003
(D) 30 96004
Right Answer : Right Option Id : 96003
7.5
Question 82 Question Id : 91
RIS 7 H T SATHS 3, 5, 6, X, X+2, 12, 17, 20 BT HIE 10 81 dl X BT A §
Answer : Option Id
(A)9 91001
(B) 10 91002
@mn 91003
(D) 12 91004
Right Answer : Right Option Id : 91001
9
Question 83 Question Id : 98
TEAP ABTA FT AT |
Answer : Option Id
(A) 98001
Fo—=f1 _
) I il ol BTR
2f0—F—1—71
(B) 98002
a—F—1 .
+ —f r ®
2fo—f—1—-f1
©1 4 Fotf—1 98003
2fo—f—1—f1
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(D) ST I e

Right Answer :

1+ Fo—-=f—1
2fo—f—1—f1

X1

Question 84

T 3N BT A1 6 § §Te & UdT =l Ueb T2 ! TTelcll | 9 U o o7 I TReAT b7 et Wi © SIaifcp el HIeH 7 371 &

Answer :

Right Answer :
19

Question 85

R} HHEH ARV AR Y 3ifiip” RO & Ber Rig BT Yol T HEeral &

Answer :
(A) TIH

(B) HIEO®
(C) dgdd
(D) fermrer

Right Answer :
HIHH

Question 86

it anafa fyaRor &1 Arenes 1 3 TeTadT § W § FiwTar o Iehar 3

Answer :

(A) 3mad fo=

(B) ISR Tsh
(C) SRERAT Y
(D) TR

Right Answer :
aRor

Question 87

TE12,2,4,5 012 F g A= A w4t g
Answer :

(A) TH =TS

(B) HI>dTgcldh

(C) HIeT < SgaiD

(D) TEAH=HAE

Right Answer :
" >TgAd

Question 88

98004

Right Option Id : 98002

Question Id : 99

Option Id
99001
99002
99003
99004

Right Option Id : 99003

Question Id : 100

Option Id
100001
100002
100003
100004

Right Option Id : 100002

Question Id : 95

Option Id
95001
95002
95003
95004

Right Option Id : 95004

Question Id : 90

Option Id
90001
90002
90003
90004

Right Option Id : 90002

Question Id : 77
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oo frawor & Fvgs a9 & =T O 4T ¥
Class | 0-5 6-11 12-17 | 18-23 | 24-29

freq 13 10 15 8 11

Answer : Option Id
(A)17 77001
(B)17.5 77002
(C)18 77003
(D) 18.5 77004
Question 89 Question Id : 88

I IIFUric ARTd 6 @ Al —F AT &

2’3745 6 6
Answer : Option Id
(A) 4 88001
(B)6 88002
€8 88003
(D) 10 88004
Right Answer : Right Option Id : 88001
4
Question 90 Question Id : 87
TYH 59 Tehdl AT BT WL §
Answer : Option Id
(A) 30 87001
(B) 40 87002
(C) 50 87003
(D) 60 87004
Right Answer : Right Option Id : 87001
30
Question 91 Question Id : 89

Lonld” cos7§ sin 7; ol AT
Aeafarf@a 3 & a1 gem?

Answer : Option Id
(A) 89001
2
(B) 89002
5}
8
© 89003
1
4
(D) 89004
1
16
Right Answer : Right Option Id : 89002
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Q=

Question 92

afg sinto + 60848:% &, dr sinfcosb
PT AT FIT TIM?

Answer :

(B

=+
P

GG
+

+

N | =

Right Answer :
1

S

Question 93
TS sinf+cos=12 cos(90°-0) %, al cotf-----

Answer :
(A) V2-1
(B) V2+1

V2
3

(D) 0

Right Answer :
v2-1

Question 94

$in229°+sin261° &1 T T G
Answer :

(A1

(B)0

(C) 2sin?29°

(D) 2cos®61°

Right Answer :
1

Question 95
Tfe x=rsinfcosec , y=rsin sinc 3R z=rcos8 g I

Answer :

(A) x2+y?+z%=r2

Question Id : 86

Option Id
86001

86002

86003
86004

Right Option Id : 86004

Question Id : 85

Option Id
85001
85002
85003

85004

Right Option Id : 85001

Question Id : 84

Option Id
84001
84002
84003
84004

Right Option Id : 84001

Question Id : 76

Option Id
76001
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(B) x?+y?-z?=r?
(@) x2-y?+z%=r2
(D) Z2+y?-x?=r?

Right Answer :
X2 +y2ez2=r2

Question 96

6tan?0-———-—- H AT FAT FIN?

Right Answer :
-6

Question 97

cos

e asind bcoso= 3 3R acos®+bsind=4

Answer :

(A) 7

(B) 12

(C) 25

(D) S A PIE e

Right Answer :
25

Question 98
2tan30°

1+tan230°

Answer :
(A) sin60°
(B) cos60°
(C) tan60°
(D) sin30°

Right Answer :
sin60°

Question 99

T AT FAT [IM?

A+B=60° %, ar sinAcosB+cosA sinB=------ aﬂﬂﬁ%?

Answer :

(A) 1

76002
76003
76004

Right Option Id : 76001

Question Id : 83

Option Id
83001
83002
83003
83004

Right Option Id : 83003

Question Id : 82

Option Id
82001
82002
82003
82004

Right Option Id : 82003

Question Id : 81

Option Id
81001
81002
81003
81004

Right Option Id : 81001

Question Id : 80

Option Id
80001

80002
80003
80004
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Right Answer :

V3
2

Question 100

afe sineC+sinf +siny=3 %, dl sin3ec+sin3B+sin3y=

Answer :
(A) O
(B)2
3
(D)1

Right Answer :
3

Question 101
fRreu 1 @WdA W7
Answer :

() e

(B) fRremeff

(©) fawaayg

(D) Ruaror fafey

Right Answer :
[REED

Question 102
TRrafor o1 e Tl Uge 8

Answer :

(A) U= TF TR AT

(B) &1 &I Si=ra® A
(C) R &1 gwaie

(D) SFIRTE Y T

Right Answer :
TRI&01 B SRS T

Question 103

&1 &1 yuTE Frefika gar g
Answer :

(A fvgae & e @

(8) Rremff &t wfa &

(C) Rueror wgTaes WAt & TR ¥
(D) ST gRoms &

Right Answer :
it uRors

Question 104
fiers & PP A7

Answer :

(A) Uy & fafkre IERy &) THGRY
(B) IS &1 THY TR FsdTe

(C) foran w1 farofar o

Art Of Teaching

Right Option Id : 80004

Question Id : 79

Option Id
79001
79002
79003
79004

Right Option Id : 79003

Question Id : 120

Option Id
120001
120002
120003
120004

Right Option Id : 120001

Question Id : 121

Option Id
121001
121002
121003
121004

Right Option Id : 121002

Question Id : 125

Option Id
125001
125002
125003
125004

Right Option Id : 125004

Question Id : 123

Option Id
123001
123002
123003
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(D) IR Tt

Right Answer :
SRS FHt

Question 105

A BT aiffepRoT TehTRId gor
Answer :

(A) 1954

(B) 1956

(C) 1958

(D) 1960

Right Answer :
1956

Question 106
e SR sarT 8
Answer :

(A) =M fafy

(B) Ve fafyy

(€) Faar famef fafyy
(D) TH=T FHTYT fafy

Right Answer :
wax fafy

Question 107
oo fafty fReror
Answer :

(A) TRECRATA Tl &
(B) VT UGl 8
(€) @ 3T UGy §
() faf¥a usfa

Right Answer :
TRHARITE USH §

Question 108
TGRS A 28

Answer :

(A) TR BT
(B) SMTHETAT T
(C) &dfe @t

(D) St BT

Right Answer :
st @

Question 109

3y TG TSt B A= §
Answer :

(A) UTS B TS

(B) P& BT &R

(C) e B! UIfed

(D) SR aHt

123004

Right Option Id : 123004

Question Id : 124

Option Id
124001
124002
124003
124004

Right Option Id : 124002

Question Id : 119

Option Id
119001
119002
119003
119004

Right Option Id : 119002

Question Id : 117

Option Id
117001
117002
117003
117004

Right Option Id : 117001

Question Id : 126

Option Id
126001
126002
126003
126004

Right Option Id : 126002

Question Id : 127

Option Id
127001
127002
127003
127004
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Right Answer :
IR Tt

Question 110

5 Hisd H 379 9 U fAa ¥
Answer :

(A) ST HAT

(B) &S AT
(C) GeTs &
(D) 3Ty

Right Answer :
SR

Question 111

e Rreror 1 IUGHT e ST &-
Answer :

(A) TTefte FHemef &

(B) TTufHE Femsit &

(C) e ufkeron gwn o

(D) Sugad | W &I el

Right Answer :
TRieren fRrarr T

Question 112

WD ST H UTeTawq 1 %W gidl 8-
Answer :

(A) TATIFS

(B) IRINT

(C) A 3R B GHI

(D) ST H I HIE T

Right Answer :

HARIE

Question 113

el R 18 & S1a

Answer :

(A) TIHUE H et ot BT F W dHrarT ARy
(B) TR1&ies &I TAMHUE W HAT TN

(C) TMUE F 39 & BIS 1 AT

(D) ST & A B

Right Answer :
RI&/ T MAYE AH BT AT

Question 114

TG B &A1 S BU H ST Sfrell 82
Answer :

(n) fexifaaar

(B) fs=pagpfer

(c) feenttar

(D) Suda waft

Right Answer :
[ESSIERE]

Right Option Id : 127004

Question Id : 128

Option Id
128001
128002
128003
128004

Right Option Id : 128004

Question Id : 129

Option Id
129001
129002
129003
129004

Right Option Id : 129003

Question Id : 108

Option Id
108001
108002
108003
108004

Right Option Id : 108001

Question Id : 130

Option Id
130001
130002
130003
130004

Right Option Id : 130002

Question Id : 122

Option Id
122001
122002
122003
122004

Right Option Id : 122001
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Question 115

DT Tpa1 H S W gedh M el 82
Answer :

(A 3fE@ siferme afvome

(B) BT & SHTRTH FT HHaT

(C) Rt & ol o1 gedichT

(D) SULe # A I T

Right Answer :
et & BT BT Yeaiaw

Question 116

QAT B BT A aTel e HEand o-
Answer :

(A) TrEsRET

(B) SHfaT

(C) Wifias

(D) ST A FIS et

Right Answer :

s

Question 117

gedi B! farare anfee-

Answer :

(A) TR I Bivrd &1 faeid a3 8g
(B) W& 1 ¥ 7

(C) A 3R B GHI

(D) 9 4 IS TET

Right Answer :
A 3R B T

Question 118

BT & i A geat B w7 X fwRia faar s e 7 e Riee-

Answer :

(A) SRR el BT ST Bl 8

(B) T BT ST el &1

(C) W& oufek &1 bgTal ATl 81
(D) &t aarsit Y a1 Bl &)

Right Answer :
Y FT 3T BT &l

Question 119

I Rrerep BEF F S AHT B & SA-
Answer :

(A) 3/ U AT B

(B) Sifafa fRierr Yoo & T FHemd d &
(C) BT &) TS F 5 HA H Heg I &
(D) 9 A IS &l

Right Answer :
T B TEETS B g A H HeE PR §

Question 120

TP B Bl THR T I <S5 30t 7Y oo s =nfgw?

Question Id : 118

Option Id
118001
118002
118003
118004

Right Option Id : 118003

Question Id : 115

Option Id
115001
115002
115003
115004

Right Option Id : 115001

Question Id : 116

Option Id
116001
116002
116003
116004

Right Option Id : 116003

Question Id : 101

Option Id
101001
101002
101003
101004

Right Option Id : 101002

Question Id : 102

Option Id
102001
102002
102003
102004

Right Option Id : 102003

Question Id : 104
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Answer :

(A) B 3T 3rergH, et 3R TR & Ul THRIAS 3391 fAHRId o Teba 3

(B) Reie q TSI BT AHaAT
(C) 3firTas fere Bt RIerd &R Jbd §
(D) ST H 4 BTE Tl

Right Answer :

B 3T 3rereH, Rerep! 3R YR & Ufd THRIAS 3941 FapRId B Febell

2

Question 121

CCE T 3 B-

Answer :

(A) FAd TYT SHTUH Hdibdd
(B) IAd qUT THSA ARG T iHd
(C) Tdd TUT TEHRT e
(D) SR aHt

Right Answer :
Jad qUT I Jedicb-T

Question 122

e wheu B IwE_ HEargl
Answer :

(A) BT & TR &I ggar- o

(B) BF & I & Mo |

(C) Rraror siftrme ufsran &1 et dea
(D) SIS wt

Right Answer :
BEI S TH B S d

Question 123
HeperTcHes Hedich bl T I T 87
Answer :

(A) BT BT AT P& H U & g
(B) ST HSATE BT S F forg

(C) SHerTT ufsean & GUR ¥ ferg

(D) BT & SHTRTH Ufeha 1 g & forg

Right Answer :
BRI P 3Teh el | Ul & forg

Question 124

et famT ameTfid 3-
Answer :

(A) TR 3R

(B) IS YR

(C) TR SR

(D) SR T+

Right Answer :
IR Tt

Question 125

Ig fava-awq, ST erga qut it wfafafy &1 =i S &-

Answer :
(A) UTedshH

Option Id
104001
104002
104003
104004

Right Option Id : 104001

Question Id : 105

Option Id
105001
105002
105003
105004

Right Option Id : 105001

Question Id : 106

Option Id
106001
106002
106003
106004

Right Option Id : 106002

Question Id : 107

Option Id
107001
107002
107003
107004

Right Option Id : 107001

Question Id : 103

Option Id
103001
103002
103003
103004

Right Option Id : 103004

Question Id : 109

Option Id
109001
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Right Answer :
BIEDER]

Question 126
T e e B ... R R |

Answer :

Right Answer :

Whfas &=

Question 127
e & SHfIPR BT ared 2-

Answer :

(A) 6 - 14 T8 & ot sl 1 Fr:geep aqut Siframd Ruem &1
(B) 4 -14 T & Tt st oY R T

(C) e o+t & ferg

(D) SR aHt

Right Answer :
6 - 14 79 & Tt Iedl o Fggeas dut ifard Rien &

Question 128

e ST B GHE W Teb THEN TR YR 3 BT SHaeR o Wi 8 o SifeTH 9o w1 R diar g 2

Answer :

(A) THF TG §
(B) T ST &
(O) TG g
(D) SR wt

Right Answer :
T I

Question 129
fRfvaTe T IaTeRu -
Answer :

(A) T IR

(B) ¥ AR

(C) %0 =2 Wt

(D) SR wt

Right Answer :
EERIEpI]

Question 130
Answer :

(A) STHATHS ST
(B) V&S SHfeRTH
(C) SnuTRa s

109002
109003
109004

Right Option Id : 109002

Question Id : 110

Option Id
110001
110002
110003
110004

Right Option Id : 110003

Question Id : 111

Option Id
111001
111002
111003
111004

Right Option Id : 111001

Question Id : 112

Option Id
112001
112002
112003
112004

Right Option Id : 112003

Question Id : 113

Option Id
113001
113002
113003
113004

Right Option Id : 113002

Question Id : 114

Option Id
114001
114002
114003
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(D) IR T+t

Right Answer :
AT ST

Other Skills

Question 131

1820 & 1% H 3Gl & fGeh =mass fdgis gul Fafafed & 3 fow 1820 % a2 & fagis 71 o ur
Answer :

(A) U

(B) 36T

(C) UrTa deft

(D) firex g

Right Answer :
T

Question 132

e T SruImad e & oy & UTd: 5.00 I (IST) ST BT 8, @ (IST) T Hisdl, ToRid H Hd 354 g?
Answer :

(A) GG TTHT 5.00 T |

(B) S8 TTHT 6.20 T

(C) GG TIHT 7.30 &9

(D) &8 B9 7§91

Right Answer :
T8 PG 7 ol

Question 133

I uRd FHu & ot wra o gR1 siftiean faw fam 82
Answer :

(A) 10%

(B) 15%

(C) 20%

(D) 25%

Right Answer :
10%

Question 134

fafafd & & S R TanE I el TE ur
Answer :

(A) ST IS TG

(B) 31398 TR g

(©) sl puarft

(D) ST YRTRT ARTIUT

Right Answer :
SEREEINEINEU

Question 135

o1l &1 & GRIE 7 e fuRa iy e e § fRud 82
Answer :

A) IR UG

B) fER

C) Ui sma

(
(
(
(D) Sfife=m

114004

Right Option Id : 114001

Question Id : 149

Option Id
149001
149002
149003
149004

Right Option Id : 149001

Question Id : 148

Option Id
148001
148002
148003
148004

Right Option Id : 148004

Question Id : 147

Option Id
147001
147002
147003
147004

Right Option Id : 147001

Question Id : 146

Option Id
146001
146002
146003
146004

Right Option Id : 146004

Question Id : 145

Option Id
145001
145002
145003
145004
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Right Answer :
ufE e

Question 136

TG OIS YASHTH & IR B FEfafed § § S 9 HuF 9 §2
Answer :

(A) TE BT % &1 B 3T FRaAT B

(B) TE 3D & F 3o & TR &I Higwrarolt war g1

(C) TE @ 3R eafy ugwor Ft e w1 Feffa Hxar 1

(D) T TG UEWUT §B7 &0 ¥ gal ¥ Yot Al &1 S0 e 3|

Right Answer :
Tg MU & W SISl & TR BT Hiawarof Har g1

Question 137

9 T 4 B 131 MUY B U B & U ST e S aTel Yol GRAT 3R Ja8 311 dfieT 82
Answer :

(A) T T

(B) HETITR

(C) deftra

(D) Suad H | B T

Right Answer :
defra

Question 138

T} Bt PeTs 3T IR W °eE STt §
Answer :

(A) TI&T 3T0REA

(B) TS aTff

(C) &t

(D) ast

Right Answer :
auf

Question 139
JUATHIRITE &7 Aaad §

Answer :

(A) STFaTg TRE TR §ga Y TrHaS SR
(B) STe7aTg UREdH TR Tgad 1Y HY THa
(C) Srerarg TR TR g 1Y e aRug
(D) SIeaTy URadH WR ¥gad 1y T9 uRea

Right Answer :
Serary uRad IR Hgad AP hHad HaT

Question 140

FLR Gt & U S aret gafa BT A Far?
Answer :

(A) JUTEHTedT aAedfa

(B) SRIBTEfeH Feafa

(C) ST g

(D) SR & I HIS |

Right Answer :
i gt

Right Option Id : 145003

Question Id : 144

Option Id
144001
144002
144003
144004

Right Option Id : 144002

Question Id : 143

Option Id
143001
143002
143003
143004

Right Option Id : 143003

Question Id : 142

Option Id
142001
142002
142003
142004

Right Option Id : 142004

Question Id : 141

Option Id
141001
141002
141003
141004

Right Option Id : 141001

Question Id : 131

Option Id
131001
131002
131003
131004

Right Option Id : 131003
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Question 141 Question Id : 139
e ueh i B Y 7 Hiex B, dl IUHT A0 1 B

Answer : Option Id
(A) 49 o TiieR 139001
(B) 48 Tl e 139002
(©) 45 T HieR 139003
(D) 42 T Hiex 139004
Right Answer : Right Option Id : 139001
49 I ey

Question 142 Question Id : 138
THlG ST BT G B | 10101 3 WIS & 1T 9% AT B &R F WIS TH (G |

Answer : Option Id
(A) 2980 138001
(B) 30000 138002
(C) 10101 138003
(D) 33333 138004
Right Answer : Right Option Id : 138001
2980

Question 143 Question Id : 137
29.92 x 2.4 + 2128 x 45 =7

Answer : Option Id
(A) 147.568 137001
(B) 167.568 137002
(C) 167.658 137003
(D) 176.568 137004
Right Answer : Right Option Id : 137002
167.568

Question 144 Question Id : 136

T &1 TSN BT TYTH AP 225 § 3R IdH THUGAD 5 8, A JBATE J1d BIOTT oI TReATsH & I Ueb T 25 82

Answer : Option Id
(A) 75 136001
(B) 65 136002
Q)15 136003
(D) 45 136004
Right Answer : Right Option Id : 136004
45

Question 145 Question Id : 135
IS P TG F 6 BT B 3MH BT 4 BIT I RSTS TSl 8, TaP ATEH b T77d B TS TN BT 36 WIT B RSTS TSl 8. W B HaTs foba-it o7

Answer : Option Id
(A) 63 pC 135001
(B) 72p¢C 135002
(€) 54 %c 135003
(D) 48 B 135004
Right Answer : Right Option Id : 135003
54 pcC

Question 146 Question Id : 134
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NUMBER : UNBMRE : : GHOST : ?

Answer : Option Id
(A) HGSOT 134001
(B) TSOGH 134002
(C) OGHST 134003
(D) SOTGH 134004
Right Answer : Right Option Id : 134001
HGSOT

Question 147 Question Id : 133
IE Xeg g o TR & o Ted] I I 1 et e g1

Answer : Option Id
() et 133001
(B) IH 133002
(©) T 133003
(D) @rad 133004
Right Answer : Right Option Id : 133004
EICES

Question 148 Question Id : 132
17,44,62,53 ......

Answer : Option Id
(A) 66 132001
(B) 26 132002
29 132003
(D) 63 132004
Right Answer : Right Option Id : 132004
63

Question 149 Question Id : 140
Ife; 18514 1 31 AHEAD B, Y 31385 &7 37 82

Answer : Option Id
(A) CATCH 140001
(B) CASSET 140002
(C) CACHE 140003
(D) CONQUER 140004
Right Answer : Right Option Id : 140003
CACHE

Question 150 Question Id : 150
TR B U TSP! I 3R SURT I gU 811 7 FgT, "a8 g1 B 41 § oy far qR 9 # 31 o # ot I g {59 yoR wafia g2

Answer : Option Id
(A) HIaT 150001
(B) =r<ht 150002
(C) TRT 1T 150003
(©) T A BIE el 150004
Right Answer : Right Option Id : 150004
& A IS AL

Page- 32


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

